Pascaline – Worksheet
· Why is this device called the Pascaline ?

· When was it invented ?

· Number of prototypes created : ….............

· One design for all the prototypes :  Yes                No    

· Number of machines still in existence today : ….............

· Complete the information :
….....put dials 

….........put windows

· What must you clear before a series of additions ?

· Can you use the Pascaline to perform subtraction ?
Yes                No  
Why or why not  ? 

· What is the trick you can use to perform subtraction ?

· What is the English for :
10N 

.....................................................

= 

…..................................................
_

…..................................................
+    

…..................................................
· What is the 9s complement of 146 ?

· Using the Pascaline's technique, calculate 3246 – 895 = 
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